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Section 4.3 - Definite Integrals, the Hard Way (by the definition).
#7

(a) Find an approximation to the integral / (x2 — 2x) dx using a Riemann sum with right endpoints and n =
Jo

2 and x; = a + i Ax. Use this to
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(b) If fis integrable on [a, b], then / fix) dx = ||rn T flx;) Ax, where Ax =
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evaluate / (x2 — 2x) dx-
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#8

The graph of fis shown. Evaluate each integral by interpreting it in terms of areas.
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#9

The graph of g consists of two straight lines and a semicircle. Use it to evaluate each integral.
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#10
Evaluate the integral by interpreting it in terms of areas.
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#11
"1 "1
Given that / x2 dx = —; use this fact and the properties of integrals to evaluate / (5 - 3x2) dx.
Jo Jo

‘ = ‘s_ - ‘LJ =
jf{-;x‘ X So oy '55: b
d Z s
Z -3{33 q-_s-m—\—-iwz

\

#12

o) a2
Given that / xdx=
2

, use this result and the fact that / cos(x) dx = 1, together with the properties of
Jo

b2_32

/2
integrals, to evaluate / (2 cos(x) - 3x) dx.
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#13

b
Write as a single integral in the form / fix) dx.
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If Flx) = / fit) dt, where fis the function whose graph s given, which of the following values is largest?

-
SL

O F0) d .
) As long as f{(7) > 0, the definite
O A1) integral is an increasing function.
.::] ;:[:2:] y=£f(t) ¥£
_ ¥) = ) s ‘wncreas/n
O A@3) a F6) Ya 5 ‘a 9
Y

sl s 9'} 1I2 ‘ ! ‘F\A-\-&J"U"\ ,,C X ow (ol(‘)
2 o

AL § )




November 11, 2024

4-2-notes-ll.notebook

#15

Suppose fhas absolute minimum value m and absolute maximum value M. Between what two values must

/_Dﬂx} dx lie?

Which property of integrals allows you to make your conclusion?
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#16
Use the properties of integrals to choose the inequality that would make the statement true without evaluating the

integrals.
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